Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

x C ]
L - B F 8 L
L : : : : : : = 1.8¢ £ : : : : : : :
1.8k ieee- PR P N P, ER g E g 1.8F--heeees I 0 { IO R O
o : : : : : : 1.6F = : 4 : : :
Lo : N : : : 1.4F o r : : 1 ¢ : :
1.6f----ieen- feeas . S RN A LH S E o] : : : : : : :
o : : : : : : 1.2F S R I £ A R
L : : : : : : E <) Lo : : : : : :
R R R C I A I e = X 14k : : A : : :
L : : : : : : E o tapre D I 1 O A Coy
b b 08F s b il
ro : : : : : : 0-6:— 1.2_._._;. _____ ...... .. ..... ..... .....
1-_ .................. & 0'4:_ r
L 0.2F A 1 I O N

- o +fpbe b b oo o ol
r IS Lo {14 : 1 : IS [ : ] : 1 : :
L 1 o S LA LENTIE o | B 01 | |
1__ """""""" h 8 6 0k i 1__""5'"'""?""'"' ': '¥| : : ". """ 1__":' """ . """ E"'"""E‘"‘""’E""":""'? """
ogsboto ot BLTEIED 5 ¢ RS U SN X 2 AL L0 0 X TS SRS URUE U 1 1 1 | O
=20 -15 -10 -5 O 5 10 15 20 -20 -15 -10 -5 O 5 10 15 20 =20 -15 -10 -5 O 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

—— DQM_V0001_R000000001__Global _mkFit1000__RECO
—— DQM_V0001_R000000001__Global _mkFit100__RECO
2

> n T
L Z ) L :
i 5 s [ 1
5 138 5 L :

: : : : : : b > 1.8

e 5 L
R R R 16 S T
R : : : : : : L @ r
! M S S (71 SR 1 [ AN N E Ler
I : : : : : : : L : e I
S . = F i oo
R S L SRR SRR S . S I ! I B, S LAk
R R (1 TR A T. 2 A IS LI O N (1
] s LR e AR B Foo : : : 12f--mree-ee s RN AR B
SR A 00 O A 71 SRR || D
R S0 S I SO S | A S A | [0 S
RN FEETE FEEEE FNEEE AREEE FEE NI FEE Tl R E EEEEE [ FTETE A T ATl AT EEEE FEEEE FaEe |1 A A T P PRl AT
sl I o STRRRN N AN MWV PRSP Wi AN S| o rwuprmbibn il b oo
r : IS g A
r 14 o [ ] :
| EPRE SPPEE: PR S SECIPCEPCEPEERE BN | SERRECRERR ° & 107 ° 52 8 THEHE 3N B P | EREESETLE PRRLS P andhnnas SEREEPEPPREPPEE
01510 5 0 5 10 15 20 0 -15-10 -5 0 5 10 15 20 0¥ 1510 5 0 5

20 -15 -10 =5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

2 N 2[ n 2
- .,.5 : 8 -
: : : : : : : = 18 £ : : : : : : :
LR AU U O o 1 U T & C L gl el I N el U T
B S : : : : : : 16 g L : : : : : :
[ : : : : : : o o L : : : : : :
L : : : : : : 1.4F g L : : : : : :
e F 1 S 12f SR T R R A
i o S L
i = N opalk : : : : : : :
0.8F e
N £ 7 [
IR 05¢
[ : : : : : : : 0.4F
| A 0.2F

D

1.UD!

Ratio
Ratio

........ -] 2 B T | SREEELERERFLEPERE = & e

s
T

b L |

0 -15 -10 -5 0 5 10 15 20 10 15 20 096 -15 -10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

N
o

|
=F-
(6]

I

™ = momees
(=]

|

(6]
o
UIE

0.95!



	Contents
	Page 1


